2.5
]uS’(MthS x *ﬂlhot are the next two term

s

4 Mudpd 13.5,7
* What are the missing digits? *
3_4 12 X 2 =
=4 x
- 2 B —_—
/&8 6

READ THE GUESTION CAREFULLY
My 4 rabbits have all had babies.

There were 22 new bunnies born.

Each rabbit had an odd number of bunnies and no
two rabbits had the same number of babies.

How many bunnies did each rabbit have?

Is there more than one solution?
(i) List all the odd numbers between O and 22

(ii) Could any of my rabbits have had 21 bunnies? Why
not? Are there any other numbers that can be excluded?

HOW CAN YOU CHECK YOUR ANSWER?
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